

JOB CARD

<p>NEW TARAMA ENGG. & NEW MEMARI ROTAVATOR PVT. LTD. CHANDUR, FOREST OFFICE PARA, ARAMBAGH, HOOGHLY, 712602 GSTIN/UIN: 19AAHCN0483E1ZG State Name : West Bengal, Code : 19</p> <p>Consignee (Ship to) SHRIMANTA GOLUI PANCHARUL, PANCHARUL, UDAYNARAYANPUR, HOWRAH State Name : West Bengal, Code : 19 Contact : 9775033226</p> <p>Buyer (Bill to) SHRIMANTA GOLUI PANCHARUL, PANCHARUL, UDAYNARAYANPUR, HOWRAH State Name : West Bengal, Code : 19 Contact : 9775033226</p>	<table border="1" style="width:100%; border-collapse: collapse;"> <tr> <td>Delivery Note No. AR/JC/2526/154</td> <td>Dated 6-Feb-26</td> </tr> <tr> <td>Job Card No :</td> <td>Service Type : Doorstep Service</td> </tr> <tr> <td>Job Type : Paid Service</td> <td>Vehicle No : Combine Harvester</td> </tr> <tr> <td>Product Model: AW70GV</td> <td>Working HR 1947</td> </tr> <tr> <td>Engine No :</td> <td>Chasis No : CBJ-801968/ CBJ-801980</td> </tr> <tr> <td>Driver Name: No</td> <td>Van/Bike No : N</td> </tr> <tr> <td>Aadhar No</td> <td>Voter No</td> </tr> <tr> <td>HYP TO</td> <td></td> </tr> <tr> <td>HYP BRANCH</td> <td></td> </tr> <tr> <td colspan="2">Salesman Name</td> </tr> <tr> <td colspan="2">Terms of Delivery</td> </tr> </table>	Delivery Note No. AR/JC/2526/154	Dated 6-Feb-26	Job Card No :	Service Type : Doorstep Service	Job Type : Paid Service	Vehicle No : Combine Harvester	Product Model: AW70GV	Working HR 1947	Engine No :	Chasis No : CBJ-801968/ CBJ-801980	Driver Name: No	Van/Bike No : N	Aadhar No	Voter No	HYP TO		HYP BRANCH		Salesman Name		Terms of Delivery	
Delivery Note No. AR/JC/2526/154	Dated 6-Feb-26																						
Job Card No :	Service Type : Doorstep Service																						
Job Type : Paid Service	Vehicle No : Combine Harvester																						
Product Model: AW70GV	Working HR 1947																						
Engine No :	Chasis No : CBJ-801968/ CBJ-801980																						
Driver Name: No	Van/Bike No : N																						
Aadhar No	Voter No																						
HYP TO																							
HYP BRANCH																							
Salesman Name																							
Terms of Delivery																							

Machanic Name : **(1) SAGAR DAS (2) GANESH SANTRA (3) RAGHUNATH MURMU (4) (5)**
 PDI By : **NO** Inspected By : **NO** Estimated Due Date : 17-Feb-26
 Job Starting : **17-Feb-26** Machine Delivery : Job Closing :
 Job Status : **Process** Customer Feedback : **1 Star** Gate Keeper Name : **No**

Cust.Complain : **FULL CHECK UP**
 Remarks of Complain : **FULL CHECK UP**
 Remarks Job Status : **JOB START**
 Actual Job :

Sl No.	Description of Goods and Services	HSN/SAC	GST Rate	Date	Delivery Qty	Return Qty	Quantity	Rate	per	Disc. %	Amount
1	1E8559-73060(LC) 18% (OIL SEAL 40X62X12 (L) 18%)	40169330	18 %	17-Feb-26	10	0	10 PCS	50.00	PCS		500.00
2	1E6B30-73070 (LC) 12% (SLEEVE, 30X40X17 (L) 12%)		5 %	17-Feb-26	10	0	10 PCS	33.00	PCS		330.00
3	91E8559-73080 (COVER, DUSTPROOF 71(91E8559-73080))		5 %	17-Feb-26	10	0	10 PCS	74.00	PCS		740.00
4	1E6680-73031 (L) 18% (OIL SEAL 45X72X12 (L) 18%)	40169330	18 %	17-Feb-26	4	0	4 PCS	38.00	PCS		152.00
5	1E6680-73040(LC) (SLEEVE, 35X45X17 (L) 12%)		5 %	17-Feb-26	4	0	4 PCS	47.00	PCS		188.00
6	91E6C40-73080@12% (DUST, COVER 81 (91E6C40-73080)@12%)		5 %	17-Feb-26	4	0	4 PCS	81.00	PCS		324.00
7	1E8420-73150(L) 18% (OIL SEAL 28X42X8 (L) 18%)	40169330	18 %	17-Feb-26	2	0	2 PCS	28.00	PCS		56.00

continued to page number 2

JOB CARD

<p>NEW TARAMA ENGG. & NEW MEMARI ROTAVATOR PVT. LTD. CHANDUR, FOREST OFFICE PARA, ARAMBAGH, HOOGHLY, 712602 GSTIN/UIN: 19AAHCN0483E1ZG State Name : West Bengal, Code : 19</p> <p>Consignee (Ship to) SHRIMANTA GOLUI PANCHARUL, PANCHARUL, UDAYNARAYANPUR, HOWRAH State Name : West Bengal, Code : 19</p> <p>Buyer (Bill to) SHRIMANTA GOLUI PANCHARUL, PANCHARUL, UDAYNARAYANPUR, HOWRAH State Name : West Bengal, Code : 19 Contact : 9775033226</p>	<table border="1" style="width:100%; border-collapse: collapse;"> <tr> <td>Delivery Note No. AR/JC/2526/154</td> <td>Dated 6-Feb-26</td> </tr> <tr> <td>Job Card No :</td> <td>Service Type : Doorstep Service</td> </tr> <tr> <td>Job Type : Paid Service</td> <td>Vehicle No : Combine Harvester</td> </tr> <tr> <td>Product Model: AW70GV</td> <td>Working HR 1947</td> </tr> <tr> <td>Engine No :</td> <td>Chasis No : CBJ-801968/ CBJ-801980</td> </tr> <tr> <td>Driver Name: No</td> <td>Van/Bike No : N</td> </tr> <tr> <td>Aadhar No</td> <td>Voter No</td> </tr> <tr> <td>HYP TO</td> <td></td> </tr> <tr> <td>HYP BRANCH</td> <td></td> </tr> <tr> <td colspan="2">Salesman Name</td> </tr> <tr> <td colspan="2">Terms of Delivery</td> </tr> </table>	Delivery Note No. AR/JC/2526/154	Dated 6-Feb-26	Job Card No :	Service Type : Doorstep Service	Job Type : Paid Service	Vehicle No : Combine Harvester	Product Model: AW70GV	Working HR 1947	Engine No :	Chasis No : CBJ-801968/ CBJ-801980	Driver Name: No	Van/Bike No : N	Aadhar No	Voter No	HYP TO		HYP BRANCH		Salesman Name		Terms of Delivery	
Delivery Note No. AR/JC/2526/154	Dated 6-Feb-26																						
Job Card No :	Service Type : Doorstep Service																						
Job Type : Paid Service	Vehicle No : Combine Harvester																						
Product Model: AW70GV	Working HR 1947																						
Engine No :	Chasis No : CBJ-801968/ CBJ-801980																						
Driver Name: No	Van/Bike No : N																						
Aadhar No	Voter No																						
HYP TO																							
HYP BRANCH																							
Salesman Name																							
Terms of Delivery																							

Machanic Name : **(1) SAGAR DAS (2) GANESH SANTRA (3) RAGHUNATH MURMU (4) (5)**
 PDI By : **NO** Inspected By : **NO** Estimated Due Date : 17-Feb-26
 Job Starting : **17-Feb-26** Machine Delivery : Job Closing :
 Job Status : **Process** Customer Feedback : **1 Star** Gate Keeper Name : **No**

Cust.Complain : **FULL CHECK UP**
 Remarks of Complain : **FULL CHECK UP**
 Remarks Job Status : **JOB START**
 Actual Job :

Sl No.	Description of Goods and Services	HSN/SAC	GST Rate	Date	Delivery Qty	Return Qty	Quantity	Rate	per	Disc. %	Amount
8	1E8420-73160 (L) 12% (SLEEVE, 20X28X13 (L) 12%)		5 %	17-Feb-26	2	0	2 PCS	38.00	PCS		76.00
9	1E8450-73770-1 (L) 18% (FLAT WASHER BIG @ (21X41) (L) 18%)	73182910	18 %	17-Feb-26	2	0	2 PCS	20.00	PCS		40.00
10	1E6C80-45080 (L) 18% (BLADE SUCCESSION (L) 18%)	73182910	18 %	17-Feb-26	2	0	2 PCS	40.00	PCS		80.00
11	1E6C80-46090 (L) 18% (BLADE SUCCESSIONN (L) 18%)	73182910	18 %	17-Feb-26	2	0	2 PCS	40.00	PCS		80.00
12	1E8559-35380 (L)18% (BOLT 6X16 (L)18%)	72041000	18 %	17-Feb-26	20	0	20 PCS	5.00	PCS		100.00
13	26487-080202 (L) 18% (BOLT 8X20 (L) 18%)	72041000	18 %	17-Feb-26	20	0	20 PCS	8.00	PCS		160.00
14	24550-070300 (BUSH, 70X30 (24550-070300))	84839000	18 %	17-Feb-26	2	0	2 PCS	1,124.00	PCS		2,248.00
15	24421-457212 (SEAL, OIL TC457212 (24421 -457212))	40169330	18 %	17-Feb-26	1	0	1 PCS	320.00	PCS		320.00

continued to page number 3

JOB CARD

<p>NEW TARAMA ENGG. & NEW MEMARI ROTAVATOR PVT. LTD. CHANDUR, FOREST OFFICE PARA, ARAMBAGH, HOOGHLY, 712602 GSTIN/UIN: 19AAHCN0483E1ZG State Name : West Bengal, Code : 19</p> <p>Consignee (Ship to) SHRIMANTA GOLUI PANCHARUL, PANCHARUL, UDAYNARAYANPUR, HOWRAH State Name : West Bengal, Code : 19</p> <p>Buyer (Bill to) SHRIMANTA GOLUI PANCHARUL, PANCHARUL, UDAYNARAYANPUR, HOWRAH State Name : West Bengal, Code : 19 Contact : 9775033226</p>	<table border="1" style="width:100%; border-collapse: collapse;"> <tr> <td>Delivery Note No. AR/JC/2526/154</td> <td>Dated 6-Feb-26</td> </tr> <tr> <td>Job Card No :</td> <td>Service Type : Doorstep Service</td> </tr> <tr> <td>Job Type : Paid Service</td> <td>Vehicle No : Combine Harvester</td> </tr> <tr> <td>Product Model: AW70GV</td> <td>Working HR 1947</td> </tr> <tr> <td>Engine No :</td> <td>Chasis No : CBJ-801968/ CBJ-801980</td> </tr> <tr> <td>Driver Name: No</td> <td>Van/Bike No : N</td> </tr> <tr> <td>Aadhar No</td> <td>Voter No</td> </tr> <tr> <td>HYP TO</td> <td></td> </tr> <tr> <td>HYP BRANCH</td> <td></td> </tr> <tr> <td colspan="2">Salesman Name</td> </tr> <tr> <td colspan="2">Terms of Delivery</td> </tr> </table>	Delivery Note No. AR/JC/2526/154	Dated 6-Feb-26	Job Card No :	Service Type : Doorstep Service	Job Type : Paid Service	Vehicle No : Combine Harvester	Product Model: AW70GV	Working HR 1947	Engine No :	Chasis No : CBJ-801968/ CBJ-801980	Driver Name: No	Van/Bike No : N	Aadhar No	Voter No	HYP TO		HYP BRANCH		Salesman Name		Terms of Delivery	
Delivery Note No. AR/JC/2526/154	Dated 6-Feb-26																						
Job Card No :	Service Type : Doorstep Service																						
Job Type : Paid Service	Vehicle No : Combine Harvester																						
Product Model: AW70GV	Working HR 1947																						
Engine No :	Chasis No : CBJ-801968/ CBJ-801980																						
Driver Name: No	Van/Bike No : N																						
Aadhar No	Voter No																						
HYP TO																							
HYP BRANCH																							
Salesman Name																							
Terms of Delivery																							

Machanic Name : **(1) SAGAR DAS (2) GANESH SANTRA (3) RAGHUNATH MURMU (4) (5)**
 PDI By : **NO** Inspected By : **NO** Estimated Due Date : 17-Feb-26
 Job Starting : **17-Feb-26** Machine Delivery : Job Closing :
 Job Status : **Process** Customer Feedback : **1 Star** Gate Keeper Name : **No**

Cust.Complain : **FULL CHECK UP**
 Remarks of Complain : **FULL CHECK UP**
 Remarks Job Status : **JOB START**
 Actual Job :

Sl No.	Description of Goods and Services	HSN/SAC	GST Rate	Date	Delivery Qty	Return Qty	Quantity	Rate	per	Disc. %	Amount
16	26156-140352 (L) 18% (BOLT, M14X35 PLATED (L) 18%)	73181900	18 %	17-Feb-26	2	0	2 PCS	28.00	PCS		56.00
17	6206 NBC BEARING	848210	18 %	17-Feb-26	20	0	20 PCS	290.00	PCS		5,800.00
18	6207 NBC BEARING	848210	18 %	17-Feb-26	4	0	4 PCS	370.00	PCS		1,480.00
19	6004-2RS NACHI	84821090	18 %	17-Feb-26	4	0	4 PCS	255.00	PCS		1,020.00
20	6206 2NSE9 NACHI	848210	18 %	17-Feb-26	6	0	6 PCS	295.00	PCS		1,770.00
21	1E8230-85520 (SEAL, PENTA (1E8230-85520))	40169330	18 %	18-Feb-26	2	0	2 PCS	419.00	PCS		838.00
22	1E8230-85530 (SCRAPER,16 1E8230 -85530)	40169990	18 %	18-Feb-26	2	0	2 PCS	410.00	PCS		820.00
23	24351-240280 (O-RING, 1A24028(24351-240280))	40169320	18 %	18-Feb-26	2	0	2 PCS	104.00	PCS		208.00
24	24311-000210 (O-RING, 1AP21.0 (24311 -000210))	40169320	18 %	18-Feb-26	2	0	2 PCS	39.00	PCS		78.00
25	24321-000950 (O-RING, 1AG95.0 (24321 -000950))	40169320	18 %	18-Feb-26	1	0	1 PCS	148.00	PCS		148.00

continued to page number 4

JOB CARD

<p>NEW TARAMA ENGG. & NEW MEMARI ROTAVATOR PVT. LTD. CHANDUR, FOREST OFFICE PARA, ARAMBAGH, HOOGHLY, 712602 GSTIN/UIN: 19AAHCN0483E1ZG State Name : West Bengal, Code : 19</p> <p>Consignee (Ship to) SHRIMANTA GOLUI PANCHARUL, PANCHARUL, UDAYNARAYANPUR, HOWRAH State Name : West Bengal, Code : 19</p> <p>Buyer (Bill to) SHRIMANTA GOLUI PANCHARUL, PANCHARUL, UDAYNARAYANPUR, HOWRAH State Name : West Bengal, Code : 19 Contact : 9775033226</p>	<table border="1" style="width:100%; border-collapse: collapse;"> <tr> <td>Delivery Note No. AR/JC/2526/154</td> <td>Dated 6-Feb-26</td> </tr> <tr> <td>Job Card No :</td> <td>Service Type : Doorstep Service</td> </tr> <tr> <td>Job Type : Paid Service</td> <td>Vehicle No : Combine Harvester</td> </tr> <tr> <td>Product Model: AW70GV</td> <td>Working HR 1947</td> </tr> <tr> <td>Engine No :</td> <td>Chasis No : CBJ-801968/ CBJ-801980</td> </tr> <tr> <td>Driver Name: No</td> <td>Van/Bike No : N</td> </tr> <tr> <td>Aadhar No</td> <td>Voter No</td> </tr> <tr> <td>HYP TO</td> <td></td> </tr> <tr> <td>HYP BRANCH</td> <td></td> </tr> <tr> <td colspan="2">Salesman Name</td> </tr> <tr> <td colspan="2">Terms of Delivery</td> </tr> </table>	Delivery Note No. AR/JC/2526/154	Dated 6-Feb-26	Job Card No :	Service Type : Doorstep Service	Job Type : Paid Service	Vehicle No : Combine Harvester	Product Model: AW70GV	Working HR 1947	Engine No :	Chasis No : CBJ-801968/ CBJ-801980	Driver Name: No	Van/Bike No : N	Aadhar No	Voter No	HYP TO		HYP BRANCH		Salesman Name		Terms of Delivery	
Delivery Note No. AR/JC/2526/154	Dated 6-Feb-26																						
Job Card No :	Service Type : Doorstep Service																						
Job Type : Paid Service	Vehicle No : Combine Harvester																						
Product Model: AW70GV	Working HR 1947																						
Engine No :	Chasis No : CBJ-801968/ CBJ-801980																						
Driver Name: No	Van/Bike No : N																						
Aadhar No	Voter No																						
HYP TO																							
HYP BRANCH																							
Salesman Name																							
Terms of Delivery																							

Machanic Name : **(1) SAGAR DAS (2) GANESH SANTRA (3) RAGHUNATH MURMU (4) (5)**
 PDI By : **NO** Inspected By : **NO** Estimated Due Date : 17-Feb-26
 Job Starting : **17-Feb-26** Machine Delivery : Job Closing :
 Job Status : **Process** Customer Feedback : **1 Star** Gate Keeper Name : **No**

Cust.Complain : **FULL CHECK UP**
 Remarks of Complain : **FULL CHECK UP**
 Remarks Job Status : **JOB START**
 Actual Job :

Sl No.	Description of Goods and Services	HSN/SAC	GST Rate	Date	Delivery Qty	Return Qty	Quantity	Rate	per	Disc. %	Amount
26	1E6B30-38220 (L) 12% (PLATE, IMPELLER A (L) 12%)		5 %	18-Feb-26	4	0	4 PCS	270.00	PCS		1,080.00
27	1E6B30-38230 (L) 12% (PLATE IMPELLER B (L) @12%)		5 %	18-Feb-26	2	0	2 PCS	80.00	PCS		160.00
28	1E6B30-38270(L) 18% (NUT, M6 SQUARE (L) 18 %)	73182910	18 %	18-Feb-26	16	0	16 PCS	20.00	PCS		320.00
29	6304-2RS NACHI	848210	18 %	18-Feb-26	6	0	6 PCS	260.00	PCS		1,560.00
30	6205 NBC BEARING	848210	18 %	18-Feb-26	4	0	4 PCS	230.00	PCS		920.00
31	6301 LLU NBC BEARING	848210	18 %	18-Feb-26	2	0	2 PCS	150.00	PCS		300.00
32	6203 LLU NBC BEARING	848210	18 %	18-Feb-26	4	0	4 PCS	155.00	PCS		620.00
33	6009-2RS NACHI	84821090	18 %	18-Feb-26	2	0	2 PCS	500.00	PCS		1,000.00
34	6006 2NSE9 NACHI	84821090	18 %	18-Feb-26	2	0	2 PCS	280.00	PCS		560.00
35	22242-000450 (L) 12% (RING 45 (L) 12%)		5 %	18-Feb-26	1	0	1 PCS	25.00	PCS		25.00
36	1E6C85-73400 (L) (SPROCKET, 90-8T/2 (L) 12%)		5 %	18-Feb-26	2	0	2 PCS	1,150.00	PCS		2,300.00

continued to page number 5

JOB CARD

<p>NEW TARAMA ENGG. & NEW MEMARI ROTAVATOR PVT. LTD. CHANDUR, FOREST OFFICE PARA, ARAMBAGH, HOOGHLY, 712602 GSTIN/UIN: 19AAHCN0483E1ZG State Name : West Bengal, Code : 19</p> <p>Consignee (Ship to) SHRIMANTA GOLUI PANCHARUL, PANCHARUL, UDAYNARAYANPUR, HOWRAH State Name : West Bengal, Code : 19</p> <p>Buyer (Bill to) SHRIMANTA GOLUI PANCHARUL, PANCHARUL, UDAYNARAYANPUR, HOWRAH State Name : West Bengal, Code : 19 Contact : 9775033226</p>	<table border="1" style="width:100%; border-collapse: collapse;"> <tr> <td>Delivery Note No. AR/JC/2526/154</td> <td>Dated 6-Feb-26</td> </tr> <tr> <td>Job Card No :</td> <td>Service Type : Doorstep Service</td> </tr> <tr> <td>Job Type : Paid Service</td> <td>Vehicle No : Combine Harvester</td> </tr> <tr> <td>Product Model: AW70GV</td> <td>Working HR 1947</td> </tr> <tr> <td>Engine No :</td> <td>Chasis No : CBJ-801968/ CBJ-801980</td> </tr> <tr> <td>Driver Name: No</td> <td>Van/Bike No : N</td> </tr> <tr> <td>Aadhar No</td> <td>Voter No</td> </tr> <tr> <td>HYP TO</td> <td></td> </tr> <tr> <td>HYP BRANCH</td> <td></td> </tr> <tr> <td colspan="2">Salesman Name</td> </tr> <tr> <td colspan="2">Terms of Delivery</td> </tr> </table>	Delivery Note No. AR/JC/2526/154	Dated 6-Feb-26	Job Card No :	Service Type : Doorstep Service	Job Type : Paid Service	Vehicle No : Combine Harvester	Product Model: AW70GV	Working HR 1947	Engine No :	Chasis No : CBJ-801968/ CBJ-801980	Driver Name: No	Van/Bike No : N	Aadhar No	Voter No	HYP TO		HYP BRANCH		Salesman Name		Terms of Delivery	
Delivery Note No. AR/JC/2526/154	Dated 6-Feb-26																						
Job Card No :	Service Type : Doorstep Service																						
Job Type : Paid Service	Vehicle No : Combine Harvester																						
Product Model: AW70GV	Working HR 1947																						
Engine No :	Chasis No : CBJ-801968/ CBJ-801980																						
Driver Name: No	Van/Bike No : N																						
Aadhar No	Voter No																						
HYP TO																							
HYP BRANCH																							
Salesman Name																							
Terms of Delivery																							

Machanic Name : **(1) SAGAR DAS (2) GANESH SANTRA (3) RAGHUNATH MURMU (4) (5)**
 PDI By : **NO** Inspected By : **NO** Estimated Due Date : 17-Feb-26
 Job Starting : **17-Feb-26** Machine Delivery : Job Closing :
 Job Status : **Process** Customer Feedback : **1 Star** Gate Keeper Name : **No**

Cust.Complain : **FULL CHECK UP**
 Remarks of Complain : **FULL CHECK UP**
 Remarks Job Status : **JOB START**
 Actual Job :

Sl No.	Description of Goods and Services	HSN/SAC	GST Rate	Date	Delivery Qty	Return Qty	Quantity	Rate	per	Disc. %	Amount
37	6204 2NSE9 NACHI	84821090	18 %	18-Feb-26	4	0	4 PCS	245.00	PCS		980.00
38	1E6B30-28902 (HOLDER, FH (1E6B30 -28902))		5 %	18-Feb-26	1	0	1 PCS	5,068.00	PCS		5,068.00
39	24430-204206 (L) 18% (OIL SEAL 20X42X7 (L) 18%)	40169330	18 %	20-Feb-26	4	0	4 PCS	28.00	PCS		112.00
40	1E6B30-17890 (LC)12% (SLEEVE, 20X15X9 (LC) 12%)		5 %	20-Feb-26	4	0	4 PCS	20.00	PCS		80.00
41	1E6B30-17120(L) (PLATE FRICTION R @18 %)	73182910	18 %	20-Feb-26	6	0	6 PCS	56.00	PCS		336.00
42	1E6B30-22400 (L) 12% (GUIDE FINGER (L)12%)		5 %	20-Feb-26	7	0	7 PCS	25.00	PCS		175.00
43	1E6B31-45700 (L) 12% (SEAL, THROWER (L) @12%)		5 %	20-Feb-26	1	0	1 PCS	385.00	PCS		385.00
44	1E6C80-27700 (L) 12% (RUBBER, SHEET METAL (L)12%)		5 %	20-Feb-26	1	0	1 PCS	412.00	PCS		412.00
45	6302 2NSE9 NACHI	848210	18 %	20-Feb-26	2	0	2 PCS	220.00	PCS		440.00

continued to page number 6

JOB CARD

<p>NEW TARAMA ENGG. & NEW MEMARI ROTAVATOR PVT. LTD. CHANDUR, FOREST OFFICE PARA, ARAMBAGH, HOOGHLY, 712602 GSTIN/UIN: 19AAHCN0483E1ZG State Name : West Bengal, Code : 19</p> <p>Consignee (Ship to) SHRIMANTA GOLUI PANCHARUL, PANCHARUL, UDAYNARAYANPUR, HOWRAH State Name : West Bengal, Code : 19</p> <p>Buyer (Bill to) SHRIMANTA GOLUI PANCHARUL, PANCHARUL, UDAYNARAYANPUR, HOWRAH State Name : West Bengal, Code : 19 Contact : 9775033226</p>	<table border="1" style="width:100%; border-collapse: collapse;"> <tr> <td>Delivery Note No. AR/JC/2526/154</td> <td>Dated 6-Feb-26</td> </tr> <tr> <td>Job Card No :</td> <td>Service Type : Doorstep Service</td> </tr> <tr> <td>Job Type : Paid Service</td> <td>Vehicle No : Combine Harvester</td> </tr> <tr> <td>Product Model: AW70GV</td> <td>Working HR 1947</td> </tr> <tr> <td>Engine No :</td> <td>Chasis No : CBJ-801968/ CBJ-801980</td> </tr> <tr> <td>Driver Name: No</td> <td>Van/Bike No : N</td> </tr> <tr> <td>Aadhar No</td> <td>Voter No</td> </tr> <tr> <td>HYP TO</td> <td></td> </tr> <tr> <td>HYP BRANCH</td> <td></td> </tr> <tr> <td colspan="2">Salesman Name</td> </tr> <tr> <td colspan="2">Terms of Delivery</td> </tr> </table>	Delivery Note No. AR/JC/2526/154	Dated 6-Feb-26	Job Card No :	Service Type : Doorstep Service	Job Type : Paid Service	Vehicle No : Combine Harvester	Product Model: AW70GV	Working HR 1947	Engine No :	Chasis No : CBJ-801968/ CBJ-801980	Driver Name: No	Van/Bike No : N	Aadhar No	Voter No	HYP TO		HYP BRANCH		Salesman Name		Terms of Delivery	
Delivery Note No. AR/JC/2526/154	Dated 6-Feb-26																						
Job Card No :	Service Type : Doorstep Service																						
Job Type : Paid Service	Vehicle No : Combine Harvester																						
Product Model: AW70GV	Working HR 1947																						
Engine No :	Chasis No : CBJ-801968/ CBJ-801980																						
Driver Name: No	Van/Bike No : N																						
Aadhar No	Voter No																						
HYP TO																							
HYP BRANCH																							
Salesman Name																							
Terms of Delivery																							

Machanic Name : **(1) SAGAR DAS (2) GANESH SANTRA (3) RAGHUNATH MURMU (4) (5)**
 PDI By : **NO** Inspected By : **NO** Estimated Due Date : 17-Feb-26
 Job Starting : **17-Feb-26** Machine Delivery : Job Closing :
 Job Status : **Process** Customer Feedback : **1 Star** Gate Keeper Name : **No**

Cust.Complain : **FULL CHECK UP**
 Remarks of Complain : **FULL CHECK UP**
 Remarks Job Status : **JOB START**
 Actual Job :

Sl No.	Description of Goods and Services	HSN/SAC	GST Rate	Date	Delivery Qty	Return Qty	Quantity	Rate	per	Disc. %	Amount
46	1E6B30-17101 (L) 12% (BACKING EDGE A (L) 12%)		5 %	20-Feb-26	6	0	6 PCS	131.00	PCS		786.00
47	1E6C40-73500 (LC) 12% (GUIDE, CRAWLER FRONT (LC) 12%)		5 %	20-Feb-26	1	0	1 PCS	960.00	PCS		960.00
48	REVAS CHAIN FULL LOCK	73151100	18 %	20-Feb-26	1	0	1 PCS	60.00	PCS		60.00
49	REVAS CHAIN HALF LOCK	73151100	18 %	20-Feb-26	1	0	1 PCS	60.00	PCS		60.00
50	BULET CHAIN FULL LOCK (L)	73151100	18 %	20-Feb-26	1	0	1 PCS	50.00	PCS		50.00
51	BULET CHAIN HALF LOCK (L)	73151100	18 %	20-Feb-26	2	0	2 PCS	50.00	PCS		100.00
52	REEL CHAIN FULL LOCK	73151100	18 %	20-Feb-26	1	0	1 PCS	30.00	PCS		30.00
53	22242-000300 (L) 18% (RING, 30 (L) 18%)	84129090	18 %	24-Feb-26	1	0	1 PCS	15.00	PCS		15.00
54	1E6B30-32261(L) 12% (SEAL UPPER (L) 12%)		5 %	24-Feb-26	1	0	1 PCS	165.00	PCS		165.00

continued to page number 7

JOB CARD

<p>NEW TARAMA ENGG. & NEW MEMARI ROTAVATOR PVT. LTD. CHANDUR, FOREST OFFICE PARA, ARAMBAGH, HOOGHLY, 712602 GSTIN/UIN: 19AAHCN0483E1ZG State Name : West Bengal, Code : 19</p> <p>Consignee (Ship to) SHRIMANTA GOLUI PANCHARUL, PANCHARUL, UDAYNARAYANPUR, HOWRAH State Name : West Bengal, Code : 19</p> <p>Buyer (Bill to) SHRIMANTA GOLUI PANCHARUL, PANCHARUL, UDAYNARAYANPUR, HOWRAH State Name : West Bengal, Code : 19 Contact : 9775033226</p>	<table border="1" style="width:100%; border-collapse: collapse;"> <tr> <td>Delivery Note No. AR/JC/2526/154</td> <td>Dated 6-Feb-26</td> </tr> <tr> <td>Job Card No :</td> <td>Service Type : Doorstep Service</td> </tr> <tr> <td>Job Type : Paid Service</td> <td>Vehicle No : Combine Harvester</td> </tr> <tr> <td>Product Model: AW70GV</td> <td>Working HR 1947</td> </tr> <tr> <td>Engine No :</td> <td>Chasis No : CBJ-801968/ CBJ-801980</td> </tr> <tr> <td>Driver Name: No</td> <td>Van/Bike No : N</td> </tr> <tr> <td>Aadhar No</td> <td>Voter No</td> </tr> <tr> <td>HYP TO</td> <td></td> </tr> <tr> <td>HYP BRANCH</td> <td></td> </tr> <tr> <td colspan="2">Salesman Name</td> </tr> <tr> <td colspan="2">Terms of Delivery</td> </tr> </table>	Delivery Note No. AR/JC/2526/154	Dated 6-Feb-26	Job Card No :	Service Type : Doorstep Service	Job Type : Paid Service	Vehicle No : Combine Harvester	Product Model: AW70GV	Working HR 1947	Engine No :	Chasis No : CBJ-801968/ CBJ-801980	Driver Name: No	Van/Bike No : N	Aadhar No	Voter No	HYP TO		HYP BRANCH		Salesman Name		Terms of Delivery	
Delivery Note No. AR/JC/2526/154	Dated 6-Feb-26																						
Job Card No :	Service Type : Doorstep Service																						
Job Type : Paid Service	Vehicle No : Combine Harvester																						
Product Model: AW70GV	Working HR 1947																						
Engine No :	Chasis No : CBJ-801968/ CBJ-801980																						
Driver Name: No	Van/Bike No : N																						
Aadhar No	Voter No																						
HYP TO																							
HYP BRANCH																							
Salesman Name																							
Terms of Delivery																							

Machanic Name : **(1) SAGAR DAS (2) GANESH SANTRA (3) RAGHUNATH MURMU (4) (5)**
 PDI By : **NO** Inspected By : **NO** Estimated Due Date : 17-Feb-26
 Job Starting : **17-Feb-26** Machine Delivery : Job Closing :
 Job Status : **Process** Customer Feedback : **1 Star** Gate Keeper Name : **No**

Cust.Complain : **FULL CHECK UP**
 Remarks of Complain : **FULL CHECK UP**
 Remarks Job Status : **JOB START**
 Actual Job :

Sl No.	Description of Goods and Services	HSN/SAC	GST Rate	Date	Delivery Qty	Return Qty	Quantity	Rate	per	Disc. %	Amount
55	1E6C85-12500 (SPROCKET, PF (1E6C85-12500))		5 %	24-Feb-26	1	0	1 PCS	2,384.00	PCS		2,384.00
56	1E6B00-53361 (COVER, OIL 35 (1E6B00-53361))	40169990	18 %	24-Feb-26	1	0	1 PCS	259.00	PCS		259.00
	OTHERS SERVICE CHARGE	998719	18 %	CHURI-4 PCS							39,314.00
	Total										₹ 39,714.00

This is a Computer Generated Document

Amount Chargeable (in words) INR Thirty Nine Thousand Seven Hundred Fourteen Only Remarks: CBJ-801980 Recd. in Good Condition	E. & O.E for NEW TARAMA ENGG. & NEW MEMARI ROTAVATOR PVT. LTD. Prepared by _____ Verified by _____ Authorised Signatory _____
--	---

JOB CARD
(Tax Analysis)

Delivery Note No. **AR/JC/2526/154**

Dated **6-Feb-26**

NEW TARAMA ENGG. & NEW MEMARI ROTAVATOR PVT. LTD.

CHANDUR, FOREST OFFICE PARA,

ARAMBAGH, HOOGHLY, 712602

GSTIN/UIN: 19AAHCN0483E1ZG

State Name : West Bengal, Code : 19

Party : **SHRIMANTA GOLUI**

PANCHARUL, PANCHARUL, UDAYNARAYANPUR, HOWRAH

State Name : West Bengal, Code : 19

HSN/SAC	Taxable Value
40169330	1,978.00
	15,638.00
73182910	856.00
72041000	260.00
84839000	2,248.00
73181900	56.00
848210	12,890.00
84821090	3,560.00
40169990	1,079.00
40169320	434.00
73151100	300.00
84129090	15.00
998719	400.00
Total	39,714.00

Tax Amount (in words) : **NIL**

for NEW TARAMA ENGG. & NEW MEMARI ROTAVATOR PVT. LTD.

Prepared by

Verified by

Authorised Signatory